

ON CONVERGENCE PROPERTIES OF SZASZ TYPE POSITIVE LINEAR OPERATOR

SHRADDHA RAJPUT & R. R. AGARWAL

Department of Applied Mathematics, Shri Shankaracharya Institute of Technology, Bhilai, India

ABSTRACT

In this paper, we have given Szasz type, positive linear operator and we have shown that, these operators preserve convergence properties for n when, f is τ -convex.

2010 Mathematics Subject Classification: 41A25; 41A36

KEYWORDS: Linear Operators, Szasz- Mirakyan Operators, Bernstein Polynomials

INTRODUCTION

In 1987, Lupus [1] introduced the first q -analogue of Bernstein operators, after that, Phillips [2] introduced another q -generalization of the classical Bernstein polynomials, later, many generalizations of positive linear operators, based on q -integers were introduced and studied by several authors. Some are in [3–5], Bleimann et al. [6], Proposed a sequence of positive linear operators L_n , defined by

$$L_n = \frac{1}{(1+x)^n} \sum_{k=0}^n f\left(\frac{k}{n-k+1}\right) \binom{n}{k} x^k \quad \forall x \geq 0, n \in \mathbb{N} \quad (1)$$

for $f \in C[0, \infty)$, where $C[0, \infty)$ denote the space of all continuous and real valued functions, defined in $[0, \infty)$.

Also the authors proved that, $L_n(f; x) \rightarrow f(x)$ as $n \rightarrow \infty$ point wise on $[0, \infty)$ for any $f \in C_B[0, \infty)$, where

$f \in C_B[0, \infty)$ denote the space of all bounded functions from $C[0, \infty)$.

Now, we recall some notations from q -analysis, the q -integer $[n]$ and the q -factorial $[n]!$ are defined by,

$$[n] := [n]_q = \begin{cases} \frac{1-q^n}{1-q} & q \neq 1 \\ n & q = 1 \end{cases} \quad \text{For } n \in \mathbb{N}, [0]! = 0, \quad (2)$$

$$[n]! := \begin{cases} [1]_q [2]_q \dots [n]_q, & n = 1, 2, \dots \\ 1 & n = 0 \end{cases} \quad n \in \mathbb{N}, [0]! = 1 \text{ where } q > 0 \quad (3)$$

for integers $n \geq r \geq 0$ the q -binomial coefficient is defined as

$$\begin{bmatrix} n \\ r \end{bmatrix}_q = \frac{[n]_q!}{[r]_q! [n-r]_q!} \quad (4)$$

Aral and Dogru [10] constructed the q -Bleimann, Butzer and Hahn operators as

$$L_{n,q}(f; x) = \frac{1}{\ell_n(x)} \sum_{k=0}^n f\left(\frac{[k]}{[n-k+1]_q}\right) q^{k(k-1)/2} \begin{bmatrix} n \\ k \end{bmatrix} x^k \quad (5)$$

Where $\ell_n(x) = \prod_{s=0}^{n-1} (1 + q^s x)$

and f is defined on the semi axis $[0, \infty)$.

In [9], the authors introduced a new generalization of Bernstein polynomials, denoted by $B\tau^n$ and defined as,

$$B\tau^n(f;x) = \sum_{k=0}^n \binom{n}{k} (f \circ \tau^{-1}) \left(\frac{k}{n} \right) (1 - \tau(x))^{n-k} \tau(x)^k$$

Where is the n^{th} Bernstein polynomial, $f \in [0, 1]$, $x \in [0, 1]$

τ is a function defined on $[0, 1]$ and having the properties:

τ is ∞ -times continuously differentiable on $[0, 1]$.

$\tau(0) = 0$, $\tau(1) = 1$ and $\tau'(x) > 0$ on $[0, 1]$.

These conditions ensure that, τ is strictly increasing and the inverse τ^{-1} of τ exists on $[0, 1]$.

We recall by [11] some usual notations and definitions, which are essential for our work.

For $\mathbf{x} = (x_1, x_2) \in \mathbb{R}^2$, $\mathbf{k} = (k_1, k_2) \in \mathbb{N}_0^2$ and $n \in \mathbb{N}$

we will write $|\mathbf{x}| := x_1 + x_2$, $\mathbf{x}^{\mathbf{k}} := x_1^{k_1} x_2^{k_2}$, $|\mathbf{k}| := k_1 + k_2$, $\mathbf{k}! := k_1! k_2!$

Now we define, a new generalization of q -Bleimann, Butzer, and Hahn operators for $f \in [0, \infty)$ by [12]

$$L_{n,q}(f; \tau(y)) = \frac{1}{\ell n(y)} \sum_{k=0}^n (f \circ \tau^{-1}) \left(\frac{[k]}{[n-k+1]_q} \right) q^{k(k-1)/2} \begin{bmatrix} n \\ k \end{bmatrix} \tau(y)^k$$

Where $\ell n(y) = \prod_{s=0}^{n-1} (1 + q^s \tau(y))$

and τ is a function, that is continuously differentiable of infinite order on, $[0, \infty)$ such that $\tau(0) = 0$, $\tau(1) = 1$, and in $f_{x \in [0, \infty)}$ $\tau'(x) \geq 1$

We define new positive operator $f \in [0, \infty)$, from above work

$$S_n(f; \tau(x)) = e^{-n\tau(x)} \sum_{k=0}^n \frac{(n\tau(x))^k}{k!} (f \circ \tau^{-1}) \left(\frac{k}{n} \right)$$

and τ is a function that is continuously differentiable of infinite order on $[0, \infty)$ such that $\tau(0) = 0$, $\tau(1) = 1$, and in $f_{x \in [0, \infty)}$ $\tau'(x) \geq 1$

Definition 1

Let f , be a real valued function continuous defined on, $D \subseteq \mathbb{R}^2$ and let τ , be a function satisfying the conditions (τ_1) and (τ_2) .

We say that, f is a Lipchitz continuous function of order on D , if

$$|f(x) - f(y)| \leq \left| \sum_{i=1}^2 |\tau(x_i) - \tau(y_i)| \right|^\mu$$

Definition 2

A continuous real valued function f , is said to be convex in $D \subseteq [0, \infty)$, if

$$f\left(\sum_{i=1}^m \alpha_i x_i\right) \leq \sum_{i=1}^m \alpha_i f(x_i)$$

for every $x_1, x_2, \dots, x_m \in D$ and for every non negative number of $\alpha_1, \alpha_2, \dots, \alpha_m \in D$ such that, $\alpha_1 + \alpha_2 + \dots + \alpha_m = 1$

MAIN RESULTS

Theorem: - Let τ –convex function defined on S . Then $S_n, (f; \tau(x))$ is monotonically non –increasing in n .

Proof: Let $x, y \in S$ and $x \leq y$ which means that $x_1 \leq y_1$ and $x_2 \leq y_2$. Using of the operators s_n^τ and

From the definition $S_n, (f; \tau(x))$, We have

$$S_n, (f; \tau(x)) = e^{-n\tau(x)} \sum_{k=0}^n \frac{(n\tau(x))^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right)$$

$$S_n, (f; \tau(x)) = \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} e^{-n\tau(x)} (\tau(x))^k \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right)$$

$$= \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} (|\tau(x)|+1 - |\tau(x)|) (\tau(x))^k \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x)|}$$

$$= \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} \tau(x_1)^{k_1+1} \tau(x_2)^{k_2} \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$+ \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} (\tau(x_1))^{k_1} (\tau(x_2))^{k_2+1} \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$+ \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} (\tau(x))^k \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x)|}$$

Let $S_1 = \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} \tau(x_1)^{k_1+1} \tau(x_2)^{k_2} \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|}$

$S_2 = \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} (\tau(x_1))^{k_1} (\tau(x_2))^{k_2+1} \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|}$

$S_3 = \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} (\tau(x))^k \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x)|}$

Since,

$$S_1 = \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} \tau(x_1)^{k_1+1} \tau(x_2)^{k_2} \frac{(n)^k}{k!} (fo\tau^{-1}) \left(\frac{k}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$= \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} \tau(x_1)^{k_1+1} \tau(x_2)^{k_2} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1} \left(\frac{k_1}{n_1}\right) \cdot \tau^{-1} \left(\frac{k_2}{n_2}\right)) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$+ (\tau(x_1))^{n+1} f(\tau^{-1}(1) \cdot \tau^{-1}(0)) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$= \sum_{k_1=0}^n \sum_{k_2=0}^{n-k_1} \tau(x_1)^{k_1+1} \tau(x_2)^{k_2} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1} \left(\frac{k_1}{n_1}\right) \cdot \tau^{-1} \left(\frac{k_2}{n_2}\right)) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$+ \sum_{k_1=0}^n \tau(x_1)^{k_1+1} \left(\frac{(n)^{k_1}}{k_1!}\right) f(\tau^{-1} \left(\frac{k_1}{n_1}\right)) \cdot \tau^{-1}(0) e^{-n|\tau(x_1)|}$$

$$+ (\tau(x_1))^{n+1} f(\tau^{-1}(1) \cdot \tau^{-1}(0)) e^{-n|\tau(x_1)|}$$

$$= \sum_{k_1=0}^{n-2} \sum_{k_2=1}^{n-k_1-1} \tau(x_1)^{k_1+1} \tau(x_2)^{k_2} \frac{(n)^k}{k!} f(\tau^{-1} \left(\frac{k_1}{n_1}\right) \cdot \tau^{-1} \left(\frac{k_2}{n_2}\right)) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$+ \sum_{k_1=0}^{n-1} \tau(x_1)^{k_1+1} \tau(x_2)^{n-k_1} \left(\frac{(n)^{k_1}}{k_1!}\right) f(\tau^{-1} \left(\frac{k_1}{n_1}\right) \cdot \tau^{-1} \left(\frac{n-k_1}{n_1}\right)) e^{-n|\tau(x_1)-\tau(x_2)|}$$

$$+ \sum_{k_1=0}^{n-1} \tau(x_1)^{k_1+1} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1} \left(\frac{k_1}{n_1}\right) \cdot \tau^{-1}(0)) e^{-n|\tau(x_1)|}$$

$$\begin{aligned}
& +(\tau(x_1))^{n+1} f(\tau^{-1}(1), \tau^{-1}(0)) e^{-n|\tau(x_1)|} \\
& = \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}\left(\frac{k_2}{n}\right) e^{-n|\tau(x)|} \\
& + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}\left(\frac{(n-k_1+1)}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|} \\
& + \sum_{k_1=0}^n \tau(x_1)^{k_1} \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}(0) e^{-n|\tau(x_1)|} \\
& +(\tau(x_1))^{n+1} f(\tau^{-1}(1), \tau^{-1}(0)) e^{-n|\tau(x_1)|}
\end{aligned}$$

Since $\tau^{-1}(1) = 1, \tau^{-1}(0) = 0$

$$\begin{aligned}
S_1 & = \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}\left(\frac{k_2}{n}\right) e^{-n|\tau(x)|} \\
& + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}\left(\frac{(n-k_1+1)}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|} \\
& + \sum_{k_1=0}^n \tau(x_1)^{k_1} \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}(0) e^{-n|\tau(x_1)|} + (\tau(x_1))^{n+1} f(1,0) e^{-n|\tau(x_1)|}
\end{aligned}$$

Similarly,

$$\begin{aligned}
S_2 & = \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1}{n}\right)) \cdot \tau^{-1}\left(\frac{(k_2-1)}{n}\right) e^{-n|\tau(x)|} \\
& + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1}\left(\frac{k_1}{n}\right)) \cdot \tau^{-1}\left(\frac{(n-k_1)}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|} \\
& + \sum_{k_1=1}^n \tau(x_2)^{k_2} \frac{(n)^k}{k!} f(\tau^{-1}(0), \tau^{-1}\left(\frac{k_2-1}{n}\right)) e^{-n|\tau(x_2)|} + (\tau(x_1))^{n+1} f(0,1) e^{-n|\tau(x_1)|}
\end{aligned}$$

$$\begin{aligned}
S_3 & = \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1}{n}\right)) \cdot \tau^{-1}\left(\frac{k_2}{n}\right) e^{-n|\tau(x)|} \\
& + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1}\left(\frac{k_1}{n}\right), 0) e^{-n|\tau(x_1)-\tau(x_2)|} \\
& + \sum_{k_1=0}^n \tau(x_2)^{k_2} \frac{(n)^k}{k!} f(\tau^{-1}(0), \tau^{-1}\left(\frac{k_2}{n}\right)) e^{-n|\tau(x_2)|} + f(0,0) e^{-n|\tau(x)|}
\end{aligned}$$

Therefore, we have

$$\begin{aligned}
S_{n(f; \tau(x))} & = \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}\left(\frac{k_2}{n}\right) \\
e^{-n|\tau(x)|} & + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}\left(\frac{(n-k_1+1)}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|} \\
& + \sum_{k_1=0}^n \tau(x_1)^{k_1} \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1-1}{n}\right)) \cdot \tau^{-1}(0) e^{-n|\tau(x_1)|} + (\tau(x_1))^{n+1} f(1,0) e^{-n|\tau(x_1)|} \\
& + \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n)^k}{k!} f(\tau^{-1}\left(\frac{k_1}{n}\right)) \cdot \tau^{-1}\left(\frac{(k_2-1)}{n}\right) \\
e^{-n|\tau(x)|} & + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n)^k}{k!}\right) f(\tau^{-1}\left(\frac{k_1}{n}\right)) \cdot \tau^{-1}\left(\frac{(n-k_1)}{n}\right) e^{-n|\tau(x_1)-\tau(x_2)|} \\
& + \sum_{k_1=1}^n \tau(x_2)^{k_2} \frac{(n)^k}{k!} f(\tau^{-1}(0), \tau^{-1}\left(\frac{k_2-1}{n}\right)) e^{-n|\tau(x_2)|} + (\tau(x_1))^{n+1} f(0,1) e^{-n|\tau(x_1)|}
\end{aligned}$$

$$\begin{aligned}
 & + \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n)^k}{k!} f(\tau^{-1} \left(\left(\frac{k_1}{n} \right) \right) \cdot \tau^{-1} \left(\left(\frac{k_2}{n} \right) \right) e^{-n|\tau(x)|} \\
 & + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n)^k}{k!} \right) f \left(\tau^{-1} \left(\frac{k_1}{n} \right), 0 \right) e^{-n|\tau(x_1)-\tau(x_2)|} \\
 & + \sum_{k_1=0}^n \tau(x_2)^{k_2} \frac{(n)^k}{k!} f(\cdot, \tau^{-1}(0), \tau^{-1} \left(\frac{k_2}{n} \right) e^{-n|\tau(x_2)|} + f(0,0) e^{-n|\tau(x)|}
 \end{aligned} \tag{2.1}$$

Similarly,

$$\begin{aligned}
 S_{n+1}(f; \tau(x)) & = \sum_{k_1=0}^{n+1} \sum_{k_2=0}^{n+1-k_1} e^{-(n+1)\tau(x)} (\tau(x))^k \frac{(n+1)^k}{k!} (f \circ \tau^{-1}) \left(\frac{k}{n+1} \right) \\
 & = \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k \frac{(n+1)^k}{k!} f(\tau^{-1} \left(\left(\frac{k_1}{n+1} \right) \right) \cdot \tau^{-1} \left(\left(\frac{k_2}{n+1} \right) \right) e^{-n|\tau(x)|} \\
 & + \sum_{k_1=1}^n \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} \left(\frac{(n+1)^k}{k!} \right) f(\tau^{-1} \left(\frac{k_1}{n+1} \right) \cdot \tau^{-1} \left(\left(\frac{n-k_1+1}{n+1} \right) \right) e^{-n|\tau(x_1)-\tau(x_2)|} + \\
 & + \sum_{k_1=0}^n \tau(x_1)^{k_1} \frac{(n+1)^k}{k!} f(\tau^{-1} \left(\frac{k_1}{n+1} \right) \cdot \tau^{-1}((0)) e^{-n|\tau(x_1)|} + (\tau(x_1))^{n+1} f(1,0) e^{-n|\tau(x_1)|} \\
 & + \sum_{k_2=0}^n \tau(x_2)^{k_2} \frac{(n+1)^k}{k!} f(\cdot, \tau^{-1}(0), \tau^{-1} \left(\frac{k_2}{n+1} \right) e^{-n|\tau(x_2)|} + (\tau(x_2))^{n+1} f(0,1) + f(0,0) e^{-n|\tau(x)|}
 \end{aligned} \tag{2.2}$$

Thus, we can write

$$\begin{aligned}
 S_n(f; \tau(x)) - S_{n+1}(f; \tau(x)) & = \sum_{k_1=1}^{n-1} \sum_{k_2=1}^{n-k_1} \tau(x)^k e^{-n|\tau(x)|} \left\{ \frac{(n)^k}{k!} \left(f(\tau^{-1} \left(\left(\frac{k_1-1}{n} \right) \right) \cdot \tau^{-1} \left(\left(\frac{k_2}{n} \right) \right) \right) + \right. \\
 & + \frac{(n)^k}{k!} \left(f(\tau^{-1} \left(\left(\frac{k_1}{n} \right) \right) \cdot \tau^{-1} \left(\left(\frac{k_2-1}{n} \right) \right) \right) + \frac{(n)^k}{k!} \left(f(\tau^{-1} \left(\left(\frac{k_1}{n} \right) \right) \cdot \tau^{-1} \left(\left(\frac{k_2}{n} \right) \right) \right) \\
 & - \frac{(n+1)^k}{k!} f(\tau^{-1} \left(\left(\frac{k_1}{n+1} \right) \right) \cdot \tau^{-1} \left(\left(\frac{k_2}{n+1} \right) \right) + \sum_{k_1=1}^n \left\{ \left(\frac{(n)^k}{k!} \right) f(\tau^{-1} \left(\frac{k_1-1}{n} \right) \cdot \tau^{-1} \left(\left(\frac{n-k_1+1}{n} \right) \right) \right\} \\
 & + \frac{(n)^k}{k!} f(\tau^{-1} \left(\left(\frac{k_1}{n} \right) \right) \cdot \tau^{-1} \left(\left(\frac{n-k_1}{n} \right) \right) - \left. \left(\frac{(n+1)^k}{k!} \right) f \left(\tau^{-1} \left(\frac{k_1}{n+1} \right) \cdot \tau^{-1} \left(\left(\frac{n-k_1+1}{n} \right) \right) \right\} \right. \\
 & \tau(x_1)^{k_1} \tau(x_2)^{n-k_1+1} e^{-n|\tau(x_1)-\tau(x_2)|} + \sum_{k_1=0}^n \tau(x_1)^{k_1} \left\{ \frac{(n)^k}{k!} f(\tau^{-1} \left(\frac{k_1-1}{n} \right) \cdot \tau^{-1}((0)) e^{-n|\tau(x_1)|} \right. \\
 & + \frac{(n)^k}{k!} f \left(\tau^{-1} \left(\frac{k_1}{n} \right), 0 \right) e^{-n|\tau(x_1)-\tau(x_2)|} \frac{(n+1)^k}{k!} + \sum_{k_2=1}^n \tau(x_2)^{k_2} \left\{ \frac{(n)^k}{k!} f \left(\cdot, \tau^{-1}(0), \tau^{-1} \left(\frac{k_2-1}{n} \right) \right) \right. \\
 & + \left. \frac{(n)^k}{k!} f \left(\cdot, \tau^{-1}(0), \tau^{-1} \left(\frac{k_2}{n} \right) \right) - \left. \frac{(n+1)^k}{k!} f \left(\cdot, \tau^{-1}(0), \tau^{-1} \left(\frac{k_2}{n+1} \right) \right) \right\} e^{-n|\tau(x_2)|} \left. \right\} \\
 & + \{f(1,0) - f(0,0)\} e^{-n|\tau(x_1)|} (\tau(x_1))^{n+1} + \{f(0,1) - f(0,0)\} (\tau(x_1))^{n+1} \{f(0,0) f(0,0)\} e^{-n|\tau(x)|} \\
 S_n(f; \tau(x)) - S_{n+1}(f; \tau(x)) & = \sum_{k_1=0}^{n-2} \sum_{k_2=0}^{n-2-k_1} \tau(x_1) \tau(x_2) \tau(x)^k e^{-n|\tau(x)|} \left\{ \frac{(n)^k}{k!} (f \circ \tau^{-1}) \left(\frac{k_1}{n}, \frac{k_2+1}{n} \right) \right. \\
 & + \frac{(n)^k}{k!} (f \circ \tau^{-1}) \left(\frac{k_1+1}{n}, \frac{k_2}{n} \right) + \frac{(n)^k}{k!} (f \circ \tau^{-1}) \left(\frac{k_1+1}{n}, \frac{k_2+1}{n} \right) - \frac{(n+1)^k}{k!} (f \circ \tau^{-1}) \left(\frac{k_1+1}{n+1}, \frac{k_2+1}{n+1} \right) \left. \right\} \\
 & + \sum_{k_1=0}^{n-1} \tau(x_1) \tau(x_2) \left\{ (f \circ \tau^{-1}) \left(\frac{k_1}{n}, \frac{n-k_1}{n} \right) + (f \circ \tau^{-1}) \left(\frac{k_1+1}{n}, \frac{n-k_1-1}{n} \right) - (f \circ \tau^{-1}) \left(\frac{k_1+1}{n+1}, \frac{n-k_1}{n+1} \right) \right\} \tau(x_1)^{k_1} \tau(x_1)^{n-k_1-1} \\
 & + \sum_{k_1=0}^{n-1} \tau(x_1) \left\{ (f \circ \tau^{-1}) \left(\frac{k_1}{n}, 0 \right) + (f \circ \tau^{-1}) \left(\frac{k_1+1}{n}, 0 \right) - (f \circ \tau^{-1}) \left(\frac{k_1+1}{n+1}, 0 \right) \right\} \tau(x_1)^{k_1} + \sum_{k_1=0}^{n-1} \tau(x_2) \left\{ (f \circ \tau^{-1}) \left(0, \frac{k_2}{n} \right) + \right. \\
 & \left. (f \circ \tau^{-1}) \left(0, \frac{k_2+1}{n} \right) - (f \circ \tau^{-1}) \left(0, \frac{k_2+1}{n+1} \right) \right\} \tau(x_2)^{k_2}
 \end{aligned} \tag{2.3}$$

Now set,

$$I_1 := \frac{(n)^k}{k!} (\text{fo}\tau^{-1}) \left(\frac{k_1}{n}, \frac{k_2+1}{n} \right) + \frac{(n)^k}{k!} (\text{fo}\tau^{-1}) \left(\frac{k_1+1}{n}, \frac{k_2}{n} \right) + \frac{(n)^k}{k!} (\text{fo}\tau^{-1}) \left(\frac{k_1+1}{n}, \frac{k_2+1}{n} \right) - \frac{(n+1)^k}{k!} (\text{fo}\tau^{-1}) \left(\frac{k_1+1}{n+1}, \frac{k_2+1}{n+1} \right)$$

$$I_2 := (\text{fo}\tau^{-1}) \left(\frac{k_1}{n}, \frac{n-k_1}{n} \right) + (\text{fo}\tau^{-1}) \left(\frac{k_1+1}{n}, \frac{n-k_1-1}{n} \right) - (\text{fo}\tau^{-1}) \left(\frac{k_1+1}{n+1}, \frac{n-k_1}{n+1} \right)$$

$$I_3 := \{ (\text{fo}\tau^{-1}) \left(\frac{k_1}{n}, 0 \right) + (\text{fo}\tau^{-1}) \left(\frac{k_1+1}{n}, 0 \right) - (\text{fo}\tau^{-1}) \left(\frac{k_1+1}{n+1}, 0 \right) \}$$

$$I_3 := (\text{fo}\tau^{-1}) \left(0, \frac{k_2}{n} \right) + (\text{fo}\tau^{-1}) \left(0, \frac{k_2+1}{n} \right) - (\text{fo}\tau^{-1}) \left(0, \frac{k_2+1}{n+1} \right)$$

We firstly consider I_1 , let

$$\alpha_1 = \frac{k_1+1}{n+1} \geq 0, \alpha_2 = \frac{k_2+1}{n+1} \geq 0, \alpha_3 = \frac{n-|k|-1}{n+1} \geq 0$$

And

$$x_1 = \left(\frac{k_1}{n}, \frac{k_2+1}{n} \right), x_2 = \left(\frac{k_1+1}{n}, \frac{k_2}{n} \right), x_3 = \left(\frac{k_1+1}{n}, \frac{k_2+1}{n} \right)$$

Then it is easily seen that, $\alpha_1 + \alpha_2 + \alpha_3 = 1$ and $\alpha_1 x_1 + \alpha_2 x_2 + \alpha_3 x_3 = \left(\frac{k_1+1}{n+1}, \frac{k_2+1}{n+1} \right)$. Thus, from the definition of τ -convexity, it readily follows that $I_1 \geq 0$

For I_2 , we set

$$\alpha_1 = \frac{k_1+1}{n+1} \geq 0, \alpha_2 = \frac{n-k_1}{n+1} \geq 0$$

And

$$x_1 = \left(\frac{k_1}{n}, \frac{n-k_1}{n} \right), x_2 = \left(\frac{k_1+1}{n}, \frac{n-k_1-1}{n} \right)$$

Thus we have, $\alpha_1 + \alpha_2 = 1$ and $\alpha_1 x_1 + \alpha_2 x_2 = \left(\frac{k_1+1}{n+1}, \frac{n-k_1}{n+1} \right)$. Thus, from the definition of τ -convexity, it readily follows that $I_2 \geq 0$

For I_3 , we set

$$\alpha_1 = \frac{k_1+1}{n+1} \geq 0, \alpha_2 = \frac{n-k_1}{n+1} \geq 0$$

And

$$x_1 = \left(\frac{k_1}{n}, 0 \right), x_2 = \left(\frac{k_1+1}{n}, 0 \right)$$

Thus, we have $\alpha_1 + \alpha_2 = 1$ and $\alpha_1 x_1 + \alpha_2 x_2 = \left(\frac{k_1+1}{n+1}, 0 \right)$. Thus, from the definition of τ -convexity, it readily follows that $I_3 \geq 0$ similarly $I_4 \geq 0$. Therefore, from (2.3)

$$s_n(f; \tau(x)) - s_{n+1}(f; \tau(x)) \geq 0$$

CONCLUSIONS

We had reached the desired result $s_n(f; \tau(x)) \geq s_{n+1}(f; \tau(x))$, for all $n \in \mathbb{N}$

REFERENCES

1. Lupus, "A q -analogue of the Bernstein operators" in Seminar on Numerical and Statistical Calculus, vol. 9, Technical University of Cluj-Napoca, Cluj-Napoca, Romania, 1987.
2. G.M. Phillips, "Bernstein polynomials based on the q -integers," *Annals of Numerical Mathematics*, vol. 4, pp. 511–518, 1997.
3. A Il'inskii and S. Ostrovska "Convergence of generalized Bernstein polynomials," *Journal of Approximation Theory*, Vol. 116, no. 1, pp. 100–112, 2002.
4. S. Ostrovska, "q-Bernstein polynomials and their iterates," *Journal of Approximation Theory*, vol. 123, no. 2, pp. 232–255, 2003.
5. M. Mursaleen and A. Khan, "Generalized q -Bernstein-Schurer operators and some approximation theorems," *Journal of Function Spaces and Applications*, vol. 2013, Article ID 719834, 7 pages, 2013.
6. G. Bleimann, P. L. Butzer and L. Hahn, "A Bernstein-type operator approximating continuous functions on the semiaxis," *Indagationes Mathematicae (Proceedings)*, vol. 83, no. 3, pp. 255–262, 1980.
7. O. Agratini and G. Nowak, "On the generalizations of Bleimann, Butzer and Hahn operators based on q -integers," *Mathematical and Computer Modeling*, vol. 53, pp. 699–706, 2011.
8. O. Dogru and V. Gupta, "Monotonicity and the asymptotic estimate of Bleimann, Butzer and Hahn operators based on q integers," *Georgian Mathematical Journal*, vol. 12, no. 3, pp. 415–422, 2005.
9. D. Cardenas-Morales, P. Garrancho, and I. Ra sa, "Bernstein type operators which preserve polynomials," *Computers & Approximation Theory*, vol. 76, no. 1, pp. 54–64, 1994. and *Computer Modeling*, vol. 53, pp. 699–706, 2011.
10. A. Aral and O. Dogru, "Bleimann, butzer and hahn operators on the q -Integers," *Journal of Inequalities and Applications*, vol. 2007, Article ID 79410, 12 pages, 2007.
11. G .Bascanbaz-Tunca, H. Gulince-ilarslan, Aysegul Erencin "Bivariate Bernstein type operators," *Journal of Applied Mathematics and Computation* 273 (2016) 543-552.
12. Dilek Soylemez, "On q -Bleimann, Butzer, and Hahn- Type Operators" *Journal of Abstract and Applied Analysis* vol. 2015, Article ID 480925, 7 pages.

